Area - Volume Problems J
C
v {
Multiple Choice N
Identify the choice that best completes the staiement or answers the question. ‘
|
Underlined q are cal quired; others are no calculator. f
Area: 1,2,3,4,5 - !
Volume of revolution: 6, ) = X Ay
Yolume by slicing: 7, 8,9, 10, 11 P s W
=1 = K
1."The area of the region enclosed by the graph of y = x* + | and the line y=5is 4
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2.What i the area of the region between the graphs of y =x’and y =-x fromx=0tox=2"
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__w”" 3. Let Rbe the region enclosed by the graph of y = 1+ In(cas'x) the x-axis, and the lines x = —— and
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x ==, The closest integer approximation of the area of R is { H
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4. What is the area of the region inlhefmquldnmunchsedbymegup)uofy-cosx.y‘-x.md
~, the y-axis? a/

£

a.0.127 b. 0.385 l c. 0.400 d. 0.600 e 0.947
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. If 05k < and the area under the curve y = cosx from x =k to x:i_lg.l.lhenks
: —~ f2-
a. 1.471 b. 1414 ¢ 1277 i/ d.‘yl.lZO c. 0436
-/
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. I the region cnclosed by the y-axis, the line y = 2, and the curve y =+v/x is revolved about the

y -axis, the volume of the solid generated is
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Th:bns:ofnsolidsistheugionenclosedbymegnphofy:Jlnx‘l.helinex=t,mdlhe_
x-axis. If the cross sections of S perpendicular to the x-axis are squares, then the volume of § is
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The base of a solid is the region in the first quadrant y)ased by the graph of y = 2= x* and the
coordinate axes. If every cross section 0! perpendicular to the y-axis is a square, the volume
of the solid is given by
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_H 5 The mpon bounded by Se gragh of j = 12 - 1 and e s-aws 1 e base of a sofd For thes soisd, cach
o section perperdeoular 10 S 2-2aa w e egwiaters! rangle What 5 %e volume of e soixl”
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The Sase of 3 30l = 3 sege » B frwt guadaer dounded 5y Ge x-ws, Se y-2xis, sad e loe
Fe2y =t s shows i e Hgum soove If cross weotm of Ge sl porpeadicsiar ©© Se z-aam we P
semacecies. what s e volame of e woisd”
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/',( 15, The base of 2 solid is the region i fhe first quadrant bounded by the jaxis, the gaph of y = 1 X the

borzomal bme 7 =3, and the verucal Imez = | For thas solid, each cross secticon perpeadicular 1o the z-axs
s 3 sguare. What & e volame of he solid”

a 2561
'3 >
) c 8046
W 4

d 8755

e 20773

Vs
S

Scanned by CamScanner

v

. / .
™~

. ,.L?_., P

.- N
/‘ s
~ | o o\ l’
S ax—% ) AKX
rJ
i -~
$ -~
| >
|
/_.
- - > 4 "A
=g
NS A
S T, TEET)
& -
'
o)



